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Total (PCDDs + PCDFs) EABE 5.3 ng/ m?®
Total (PCDDs + PCDFs) & EE 5.3 ng/ m?®
Total 75+ —PCB EHIEE 0.088 ng/ m?®
Total 375+ —PCB & EE 0.089 ng/ m3
Total A4 XL U4E ERIRE 5.3 ng/ m®
Total #A4AFLU4E BEEE 5.4 ng/ m?
Total ¥A4AFL U5 HEHLYE 0.057 ng-TEQ/ m?
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HE A 151F HAR
HuE 4.3480 m® (0°C, 101.32kPa)
i R3] RS =
EARE MERED® | zpis | chus | FEEE | suup
= EETR | RHETE -
(Cs) ©) CaL CoL (TEF) (TEQ)
nlg/m3 nlg/m3 n_g/m3 np,r/m3 nlg—TEQ/m3
2,3,7,8-TeCDD 0.0023 0. 0024 0. 0009 0.0003 | 1 0. 0024
TeCDDs 1.4 1.4 0. 0009 0. 0003 — —
1,2,3,7,8-PeCDD 0.023 0. 024 0. 0009 0.0003 | 1 0.024
% [PecDDs 1.4 1.4 0. 0009 0. 0003 — —
1 [1.2.3.4.7.8-HxCDD 0.023 0.024 0. 0012 0.0003 | 0.1 0. 0024
1 1,2,3,6,7,8—HxCDD 0. 058 0. 060 0.0018 0.0005 | 0.1 0. 0060
<, [1.2.3.7.8,9-HxCDD 0. 029 0. 030 0.0018 0.0005 | 0.1 0. 0030
+ [HxCDDs 0. 91 0.94 0.0015 0. 0004 — —
1,2,3,4,6,7,.8-HpCDD 0.14 0.15 0.0017 0.0005 | 0.01 0.0015
HpCDDs 0.26 0.28 0.0017 0. 0005 — —
0CDD 0.074 0.075 0. 005 0. 001 0. 0003 0. 0000225
Total PCDDs 4.0 4.1 — — — 0. 0393225
2,3,7,8-~TeCDF 0. 0088 0. 0090 0. 0007 0.0002 | 0.1 0. 00090
TeCDFs 0. 44 0. 45 0. 0007 0. 0002 — —
1,2,3,7,8-PeCDF 0.013 0.013 0. 0007 0.0002 | 0.03 0. 00039
2,3,4,7,8-PeCDF 0.024 0. 024 0. 0009 0. 0003 3 0.0072
2 [PeCDFs 0.43 0.44 0.0008 | 0.0002 = =
™ 11,2,3,4,7,8-HxCDF 0.018 0.019 0.0014 0.0004 | 0.1 0.0019
; 1,2,3,6,7,8-HxCDF 0. 023 0. 024 0.0013 0.0004 | 0.1 0.0024
5 |1.2.3.7.8.9-HxcDF 0. 0025 0. 0025 0.0016 0.0005 | 0.1 0. 00025
5 |2.3.4,6,7.8-/1,2,3,6,8,9-HxCDF 0. 033 0.033 0.0015 0.0005 | 0.1 0.0033
>+ [HxCDFs 0.27 0.28 0.0015 0. 0005 — —
1,2,3.4,6,7,8-HpCDF 0. 036 0. 037 0.0018 0.0006 | 0.01 0. 00037
1,2,3,4,7,8,9-HpCDF 0. 0052 0. 0053 0.0017 0.0005 | 0.01 0. 000053
HpCDFs 0. 064 0. 066 0.0018 0. 0005 — —
OCDF 0. 008 0. 008 0. 004 0. 001 0. 0003 0. 0000024
Total PCDFs 1.2 1.2 — - — 0.0167654
Total (PCDDs + PCDFs) 5.3 5.3 — — — 0. 0560879
3,4,4'5-TeCB #81 0.013 0.013 0. 0009 0.0003 | 0.0003 0. 0000039
3,3',4,4-TeCB #77 0.011 0.011 0.0010 0.0003 | 0.0001 0. 0000011
3,344’ 5-PeCB #126 0.012 0.012 0.0015 0.0005 | 0.1 0.0012
3,344’55 -HxCB #169 0. 0049 0. 0050 0.0015 0.0004 | 0.03 0.000150
S [t JoF LMK 0. 041 0. 041 — - — 0. 0013550
5 [2.3.445-PeCB #123 0. 0023 0. 0024 0.0012 0.0004 | 0.00003 0. 000000072
5 12,344 5-PeCB #118 0.0093 0. 0095 0. 0021 0.0006 | 0.00003 0. 000000285
+ 12,33 4,4'-PeCB #105 0. 0075 0. 0077 0.0014 0.0004 | 0.00003 0. 000000231
| [2.34.4 5-/3.3.455-PeCB #114/#127 0. 0077 0. 0078 0. 0009 0.0003 | 0.00003 0. 000000234
g 2,3'4,4'55'-HxCB #167 0. 0033 0. 0033 0. 0009 0.0003 | 0.00003 0. 000000099
B |2.3.3.44.5-HxCB #156 0. 0077 0. 0079 0.0017 0.0005 | 0.00003 0. 000000237
2,3,3'4,4' 5'-HxCB #157 0. 0042 0. 0043 0.0015 0.0005 | 0.00003 0. 000000129
2,3,344'55-HpCB #189 0. 0052 0. 0053 0.0017 0.0005 | 0.00003 0. 000000159
Total /4 JLME 0. 047 0.048 — - - 0. 000001446
Total 3754 —PCB 0.088 0. 089 - — - 0.001356446
Total 1A XL B 5.3 5.4 — — — 0.057
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